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full esl siBd fiDr LAk es>, = A7 < &I e avIsT T &oF I 81—

D) 8+ (3) e, 3+8

() 28125 e, 25+28

i) 4O 440

) 0+ o, 9+0

(V) 254 (+25) oo, +25-(-25)

(Vi) 208453 oo, 208 - 53

frT UM ST BIfSTU—

®  (#2)xG3)*x0) () 3 x(-5)x(-6)
(i)  (-4) x 3 x(-2) () (-6) x (-4)x 1
V) 3x0x(2) (Vi) 2x(-7) *x(-3)
Re Il &) gfd >, = A1 < for@ar Hifoiy —

0] (2) X (5) cevvereenns (-3) < (5)

() 2% -4X3 i, 8 x 3

(i) 4% -3 X1 oo, 28

(@) (-8) X (=5) oo, 2 % 20

V) 2X-3XO0 o, 0 x -8

VD) 4X5%(3) e, 4 x (+5) x (-3)

i) 3 X 8% (=5) oo, 3 x 8 % (-5)

31 Uit &1 AT 69 T | A S A TP QUNd 56 8 o GART QUNd gaTsy |

<1 guiiept &1 AT 85 § AR T goifes —15 & AT ORI qUIfeh ST HITTY |
= § I IS BT TRTHA ST BITT —

@  30=2 () 40+ (-4) (i) — -48 =+ 12
v) 24+0 &)  -14+1 o) 95+ (-5)
et vt @ gftt FIRTY —

@) -80 % oo, —.20 () A6+ o, =23
i) 24+ =24 ) 124 s =-1
A & TS Hemet @1 A ufiel s AR —

Qo 17 i  -23 i) 68

@)  -75

et vt @ gftt FIRTY —

@) 18+ oo, = {) 26+ oo, =0
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g9 Aar (We Learnt)

1.

10.
11.

12.
13.
14.

15.
16.

ST gTIHD QUN] BT IRThel Had SIS YUTidh qAT QT 0D qUID] BT ANTH
AR FOMHS QN Il 2 |

TEh SIS U9 Yo FEOTHD YOI &1 ARTHS ST gulfds BT If ¥ Tctd gorfes
BT e A D T TAT IRTHS FUMHS ST i FOHAD YUTids BT Aifdhes AT
3o B |

<1 QUIel T AT BHIAT Yeb QUlieh BIaT &, Fe! Uil & AN & foTy v 2 ¢ |
Ui # I Sl R S9d A § I gRadH 8l JATdT § | I BT A1 TTHD
399 HEA © |

quTis H 1 T IO PR TR IHD A H AR T8l AT & | FAT 1 DI O ToaH D
BEd € |

el T A Bl fhdl oS WA & |rI IO B UR YUAhS F 0D
TEIT BIAT &1 O (1) X (—1) = —1 AT (=1) x (1) = —1

FOCHS AT BT RUMHD GAT D AT M B UR gHAD 6T U Bl & |
S — (1) x (-1) =+1

&1 QUIiehl T AT, 3R Yd 0T U Yolich &Il @ |

quiics | 0 I R IHDBI A el qGeldT |

gD I ®I Gdadi Td IRad| HAT Sieil 2 |

el oI AT BT IS UfTlld gD T TAT [l &eTcd FAT BT Aoy
gfiei oS H&T Bl 3 |

QUi & |NT U Had Haxd 0T AN Tl BIdT & | O 3+4 H HNhS Yol el © |
I BT BISH TS QUId H I QUIe & ART <7 TR ARTHS SHT 1 377l 2 |

T DI BISHR YD Ul Pl IHD A1 UfIeld H ART @ UR UROH —1 YT il
g |

IR HT oM Ui R T8 3@ 2 |

tot @ o7 —
HRb v v v X
pafafrg | v x v X
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